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1. Ix”dx=x +c,n=-1
n+1

Jalsill i ¢ das

2. Ikdx=kx+c

s e gl Cua

3. J'dx:x+c

4. j [kf(x)]dx:kj f () dx

s e gl Cua

5. j[f (x)+g(x)]dx:j f(x)dx+_fg(x)dx

6. J‘[f (x) — g (x) Jdx =_“ f (x)dx—J' g (x)dx

7. J-exdx=ex—|—c

8. jldx:ln|x|+c,x¢0
X

9. Icosxdx:sin X+C

10. Isin Xdx=—-cosx+c

11. fseczxdx=tanx+c

12. jcscz X dX=—cotX+¢C

13. jsecxtan Xxdx=secx+c

14. Icscxcotxdx=—cscx+c
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-3t
1. J'5dx —5X+C
5

2. Ix4dx:x—+c
5

3
3. .[3x2dx:3i+c:x3+c
3

7x°
4, j(7x+3)dx =——+3X+C
2
. 2x°
5. I(Ssm X+ 2x)dx =—-3cos X+T+C

=-3cosx+x>+c

3

1 X2
6. I(x2 +4)dx =——+4X+C
3/2
3

_2y2 +4X+cC
3
7. I(4eX +x)dx = I(4ex +1de =4e* +In|x/+c
X

COS X 1 cosx
8. J. - 5 dX: ——dX
sin“ X sin X sin X

=J.CSCXCOIX dx=-cscx+c

0. | t ;42t4 dt= [t -2)at

t—2+l

= —2t+c=-t"-2t+c
-2+1

2
10. I(x+sec2 x)dx=%+tanx+c

3
11. I(M]dx = j(xz + Z—Zde
X X

:%x3+2x—7ln|x|+c
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J'(Sx6 —2x* +3X% —B X i

J. (x’/2 —3x¥® 4 5x7¥? )jx
j2xdx

I(Scos X+2x)dx j

J‘(sec2 x—1)dx

J'—Zexdx
J' X5 +2

dx
X3
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